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Exercise

1. You are moving towards Qutab Minar. Is

Qutab Minar at rest or in motion with respect

to you?

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_IogqpNIOONjy


Watch Video Solution

2. Two trains A and B are moving on parallel

tracks with same speed and in the same

direction. An observer P is sitting in train A

and another person Q is sitting in train B. Is Q

at rest with respect to P?

Watch Video Solution

3. Motion is an absolute term.

https://dl.doubtnut.com/l/_IogqpNIOONjy
https://dl.doubtnut.com/l/_6aRNVSttCNqO
https://dl.doubtnut.com/l/_aQQPaGFdAk9X


Watch Video Solution

4. Rest is a relative term.

Watch Video Solution

5. Can an object be at rest as well as in motion

at the same time ?

Watch Video Solution

https://dl.doubtnut.com/l/_aQQPaGFdAk9X
https://dl.doubtnut.com/l/_PsAr118uZ5zk
https://dl.doubtnut.com/l/_2oOO0vWz3VkV


6. Define rest and motion. Give one example

for each.

Watch Video Solution

7. Define rest and motion. Give one example

for each.

Watch Video Solution

https://dl.doubtnut.com/l/_a3N3AUKaXiCQ
https://dl.doubtnut.com/l/_DQcZAieiJueV


8. Have you ever experienced that the train in

which you are sitting appears to move while it

is actually at rest ? Discuss.

Watch Video Solution

9. An athlete completes 100m race on a

straight track. Calculate the distance and

magnitude of displacement of athlete during

the race.

Watch Video Solution

https://dl.doubtnut.com/l/_k5SHQU9QenCR
https://dl.doubtnut.com/l/_YIXTSK8t23wl


10. A circular track is made on which an thelete

has to cover three rounds to complete a 1000

m run. During the run find the distance and

magnitude of displacement of the athlete.

Watch Video Solution

11. On a square track of edge length 100 m, an

athlete starts from one corner and reaches

diagonally opposite corner. Find the distance

https://dl.doubtnut.com/l/_YIXTSK8t23wl
https://dl.doubtnut.com/l/_iTob906XSOOA
https://dl.doubtnut.com/l/_IJ9lZr3cJYNw


and the magnitude of displacement of the

athlete.

Watch Video Solution

12. If the athelte reaches back to the same

corner after running on the track once, find

the magnitude of displacement of the athlete.

Watch Video Solution

https://dl.doubtnut.com/l/_IJ9lZr3cJYNw
https://dl.doubtnut.com/l/_O7TqnhX9Gsn8


13. A cricket ball is thrown up. It reaches a

height 10 m from the point of throw and then

reach back to the point of throw. Find the

distance and displacement of the ball.

Watch Video Solution

14. What is the difference betwee ndistance

and displacement?

Watch Video Solution

https://dl.doubtnut.com/l/_19tIiPtGzwT2
https://dl.doubtnut.com/l/_HB6yfsbLXco9
https://dl.doubtnut.com/l/_9jqNhYRdy6KC


15. Give one example where distance is not

equal the magnitude of displacement.

Watch Video Solution

16. Differentiate between speed and velocity.

Watch Video Solution

17. Give three examples in which average speed

is not equal to the magnitude of average

https://dl.doubtnut.com/l/_9jqNhYRdy6KC
https://dl.doubtnut.com/l/_xlDCzPfNvdIL
https://dl.doubtnut.com/l/_8GZOLNAwjfg5


velocity.

Watch Video Solution

18. Define uniform motion.

Watch Video Solution

19. Define acceleration .What are positive and

negative accelerations?

Watch Video Solution

https://dl.doubtnut.com/l/_8GZOLNAwjfg5
https://dl.doubtnut.com/l/_fqk9hJlVVKpf
https://dl.doubtnut.com/l/_2rxmloXHCxJY


20. A car is moving with a speed of 30 m/s.

Find the distance covered by the car in 2s

Watch Video Solution

21. A car is moving with a speed of 30 m/s. Find

the distance covered by the car in 1 minute.

Watch Video Solution

https://dl.doubtnut.com/l/_6yravZzR3OLX
https://dl.doubtnut.com/l/_8Wy7lGBl9elm


22. An artificial satellite orbits in a circular

path. The height of the satellite from the

surface of earth is 36,000 km. Such satellite is

called geo - stationary. When the satellite is

exactly vertically upwards the ground station,

it sends a signal. How much time will the

signal take to reach the ground station. The

speed of signal is 

Watch Video Solution

3 × 108ms− 1

https://dl.doubtnut.com/l/_zLJejMFgip7t


23. A body travels a distance  with vleocity 

and distance  with velocity in the with

velocity  . Calculate the average velocity.

Watch Video Solution

s1 v1

s2 v2

v2

24. A boy goes to market at an average speed

of .finding the market closed he

return back by same path with an average

speed of 40 . find the average speed

and velocity for complete journey.

29kmh− 1

kmh− 1

https://dl.doubtnut.com/l/_yYXH67ujcvbM
https://dl.doubtnut.com/l/_4jUxSm2pqsS7


Watch Video Solution

25. A boy goes to the market at an average

speed of 29 km/h. finding the market closed,

he immediately returns back by the same path

with an average speed of 40 km/h, if the boy

covers half the path during his return journey.

Find the average speed and average velocity.

Watch Video Solution

https://dl.doubtnut.com/l/_4jUxSm2pqsS7
https://dl.doubtnut.com/l/_lHm8T6y9DoS8


26. An object travels 16 m in 4 s and then

another 16 m is 2s. What is the average speed

of the object?

Watch Video Solution

27. The odometer of a car reads 2000 km at

the start of a trip and 2400 km at the end of

the trip . If the trip took 8 h , calculate the

average speed of the car in km/h and m/s.

Watch Video Solution

https://dl.doubtnut.com/l/_ZzXqOMYcqiMn
https://dl.doubtnut.com/l/_F55fP493UsrA


28. Usha swims in a 90 m long pool. She covers

180 m in one minute by swimming from one

end to the other and back along the same

length path. Find the average speed and

average velocity of Usha.

Watch Video Solution

29. Starting from a stationary position , Rahul

paddles his bicycle to attain a velocity of 6 m/s

in 30 s. Then he applies brakes such that the

https://dl.doubtnut.com/l/_F55fP493UsrA
https://dl.doubtnut.com/l/_XNLqbJlamUjC
https://dl.doubtnut.com/l/_EcXI5mElk4vq


velocity of bicycle comes down to 4m/s in the

next 5s . Calculate the acceleration of the

bicycle in both the cases.

Watch Video Solution

30. Priyanka takes 30 minutes to cover a

distance 3 kilometres on a bicycle. Calculate

her velocity units of kilometre/min, m/s, and

km/h.

Watch Video Solution

https://dl.doubtnut.com/l/_EcXI5mElk4vq
https://dl.doubtnut.com/l/_lUcrdTyQJP6E
https://dl.doubtnut.com/l/_ln8UgMUhAePV


31. A car travels 40 km in 30 minutes and the

next 40km in 40 minutes. Calculate the

average speed for entire journey.

Watch Video Solution

32. A car travels 30 km at a uniform speed of

40 km/h and the next 30 km at a uniform

speed of 20 km/h . Find its average speed.

Watch Video Solution

https://dl.doubtnut.com/l/_ln8UgMUhAePV
https://dl.doubtnut.com/l/_KXrwWqqlQ57A
https://dl.doubtnut.com/l/_6bAoryO095rR


33. A train 120 m long moving on a straight

and track with uniform speed passes a pole in

6 seconds Find: the speed of the train.

Watch Video Solution

34. A train 120 m long moving on a straight

and track with uniform speed passes a pole in

6 seconds Find: the speed of the train.

Watch Video Solution

https://dl.doubtnut.com/l/_6bAoryO095rR
https://dl.doubtnut.com/l/_FiILQsoSChkL


35. If a body covers first half of its journey with

uniform speed  and the second half of the

journey with uniform speed . Then the

average speed during whole journey.

Watch Video Solution

v1

v2

36. A car traelling at  speeds up 

 in 6 sec. What is its acceleration?

Watch Video Solution

20kmh− 1

60kmh− 1

https://dl.doubtnut.com/l/_xrsA4iiPwN0i
https://dl.doubtnut.com/l/_6eUxIARUyKkm
https://dl.doubtnut.com/l/_ubDL0hIfrI80


37. A 100 m long train crosses a bridge of

length 200m in 50 seconds with constant

velocity. Find the velocity.

Watch Video Solution

38. What does slope of (v-t) graph represent?

Watch Video Solution

https://dl.doubtnut.com/l/_ubDL0hIfrI80
https://dl.doubtnut.com/l/_5plWtutj1Xty


39. What does the area under v -t graph

indicate?

Watch Video Solution

40. What are the uses of graphs?

Watch Video Solution

41. What does the slope of d-t graph indicate?

Here d stands for distance.

https://dl.doubtnut.com/l/_FQIwXSgeR2lB
https://dl.doubtnut.com/l/_3rLefEFdDdbY
https://dl.doubtnut.com/l/_et20WVdpTSER


Watch Video Solution

42. Velocity-time graph of a body is parallel to

time axis. What is the acceleration of the

body?

Watch Video Solution

43. Find the speed of the body whose motion

is depicted by the graph given below. 

https://dl.doubtnut.com/l/_et20WVdpTSER
https://dl.doubtnut.com/l/_PkkQ5IVGKZQT
https://dl.doubtnut.com/l/_aiNqjEJthbAH


Watch Video Solution

44. Find the acceleration of the body whose

motion is depicted by the graph? Also find the

https://dl.doubtnut.com/l/_aiNqjEJthbAH
https://dl.doubtnut.com/l/_82TcIi8SVwUh


distance covered in 4 seconds? 

Watch Video Solution

45. Depict the motion of a body whose speed-

time graph is givne. Also find the distance

https://dl.doubtnut.com/l/_82TcIi8SVwUh
https://dl.doubtnut.com/l/_mL58SQAw3iEu


covered the body in 5 seconds.

Watch Video Solution

46. Represent the following data graphically.

Interpret the motion of body.

https://dl.doubtnut.com/l/_mL58SQAw3iEu
https://dl.doubtnut.com/l/_aSxsRnXCN9yg


Watch Video Solution

47. Interpret the given graph. Also find the

acceleration.

Watch Video Solution

https://dl.doubtnut.com/l/_aSxsRnXCN9yg
https://dl.doubtnut.com/l/_PCUfqE1I2bud
https://dl.doubtnut.com/l/_CiRpCW3UlkpJ


48. Interpret the given graph. Also find the

distance covered.

Watch Video Solution

49. Derive third equation of motion by

graphical method.

https://dl.doubtnut.com/l/_CiRpCW3UlkpJ
https://dl.doubtnut.com/l/_gSjryhCzLPkj


Watch Video Solution

50. A train starting from rest attains a velocity

of 72 km/h in 5 minutes. Assuming that the

acceleration is uniform Find the acceleration.

Watch Video Solution

51. A train starting from rest attains a velocity

of 72 km/h in 5 minutes. Assuming that the

acceleration is uniform Find the distance

https://dl.doubtnut.com/l/_gSjryhCzLPkj
https://dl.doubtnut.com/l/_P48qtY1P4Y8Y
https://dl.doubtnut.com/l/_Xx1ARSR6lzSD


travelled by the train for attaining this

velocity.

Watch Video Solution

52. A car accelerates uniformly from 

to  in . Calculate the acceleration.

Watch Video Solution

18km/h

30km/h 5s

53. A car accelerates uniformly from 18 km/h to

30 km/h in 5s. Calculate the distance covered

https://dl.doubtnut.com/l/_Xx1ARSR6lzSD
https://dl.doubtnut.com/l/_3Ct5UKQp3Q95
https://dl.doubtnut.com/l/_bUQphpvgm56P


by the car in that time.

Watch Video Solution

54. The brakes applied to a car produce an

acceleration of  in the opposite

direction to the motion. If the car takes 2 s to

stop after the application of brakes, calculate

the distance traveled during this time.

Watch Video Solution

6ms− 2

https://dl.doubtnut.com/l/_bUQphpvgm56P
https://dl.doubtnut.com/l/_Rue1rc9qIwad


55. A car moving along a straight line at a

speed of 72km/h stops in 5s. After the brakes

are applied. Find the acceleration

Watch Video Solution

56. A car moving along a straight line at a

speed of 72km/h stops in 5s. After the brakes

are applied. Plot the graph of speed versus

time

Watch Video Solution

https://dl.doubtnut.com/l/_b0v8AoIY3IxX
https://dl.doubtnut.com/l/_13zSbJvsnt8A


57. A car moving along a straight line at a

speed of 72km/h stops in 5s. After the brakes

are applied. Using the graph find the distance

covered by the car after the brakes are

applied.

Watch Video Solution

58. An object is dropped from a height of 120

m. The acceleration of the object is 10m/s

downwards. Find the distance travelled by the

https://dl.doubtnut.com/l/_13zSbJvsnt8A
https://dl.doubtnut.com/l/_LassyrmYHGKz
https://dl.doubtnut.com/l/_VH2QqNA9iSsy


object after 1s. What is the final velocity of the

object after 3s?

Watch Video Solution

59. An object is dropped from a height of 120

m. The acceleration of the object is 10m/s

downwards. Find the distance travelled by the

object after 2s. What is the final velocity of the

object after 3s?

Watch Video Solution

https://dl.doubtnut.com/l/_VH2QqNA9iSsy
https://dl.doubtnut.com/l/_DOA4KUgoQFOL
https://dl.doubtnut.com/l/_6OPYDWTncoNa


60. An object is dropped from a height of 120

m. The acceleration of the object is 10m/s

downwards. Find the distance travelled by the

object after 3s. What is the final velocity of the

object after 3s?

Watch Video Solution

61. An object is moving with a velocity of 5m/s

and with a deacceleration of  . What

will be the distance travelled by the car before

coming to rest?

1m/s2

https://dl.doubtnut.com/l/_6OPYDWTncoNa
https://dl.doubtnut.com/l/_rDNpDD14SFSD


Watch Video Solution

62. An object is moving with a velocity of

 and with a deacceleration of  .

What will be the time taken for coming to

rest?

Watch Video Solution

5m/s 1m/s2

63. A body is moving with a velocity of 10 m/s.

If the motion is uniform, what will be the

https://dl.doubtnut.com/l/_rDNpDD14SFSD
https://dl.doubtnut.com/l/_tRcuTEtjAPGz
https://dl.doubtnut.com/l/_4seFuoYiya5E


velocity after 10s?

Watch Video Solution

64. If a car accelerates uniformly from rest and

attains a speed of  in 10s, it covers a

distance of

A. 200 m

B. 300 m

C. 356 m

D. 142 m

40ms− 1

https://dl.doubtnut.com/l/_4seFuoYiya5E
https://dl.doubtnut.com/l/_DaSZ8Yw0JZt2


Answer:

Watch Video Solution

65. The unit of a acceleration is

A. m/s

B. m/min

C. km/hr

D. 

Answer:

km/
2

min

https://dl.doubtnut.com/l/_DaSZ8Yw0JZt2
https://dl.doubtnut.com/l/_ONzA3XShPYjW


Watch Video Solution

66. A train passes over a 200 m long bridge in

10s. The length of the train is 100 m. The speed

of the train is

A. 10 m/s

B. 30 m/s

C. 0.86 m/s

D. 1.42 m/s

Answer:

https://dl.doubtnut.com/l/_ONzA3XShPYjW
https://dl.doubtnut.com/l/_dJxSOtGmZwk7


Watch Video Solution

67. A particle covers equal distance in equal

interpret of time. It is said to be

A. at rest

B. moving with constant speed

C. moving with constant acceleration

D. moving with constant velocity

Answer:

https://dl.doubtnut.com/l/_dJxSOtGmZwk7
https://dl.doubtnut.com/l/_MK84kjpKlu29


Watch Video Solution

68. If a bus accelerates uniformly from rest to

speed of  in 20s, it covers a

distance

A. 200 m

B. 400 m

C. 600 m

D. 800 m

Answer:

144kmkh− 1

https://dl.doubtnut.com/l/_MK84kjpKlu29
https://dl.doubtnut.com/l/_q88faV128Kn0


Watch Video Solution

69. A train travels at a speed of 50 km 30

minutes  for the next 15 minuts then 

 for the next 60 minutes. Calculate

the average speed of the car

A. 

B. 

C. 

D. 

40kmh− 1

60kmh− 1

26.12kmh− 1

34.59kmh− 1

43.95kmh− 1

54.29kmh− 1

https://dl.doubtnut.com/l/_q88faV128Kn0
https://dl.doubtnut.com/l/_1lE5ApQnLdFy


Answer:

Watch Video Solution

70. If a body starts from a point and returns

back to the same point, then its

A. average speed is zero, but average

velocity is not zero

B. both average speed and average velocity

is zero

https://dl.doubtnut.com/l/_1lE5ApQnLdFy
https://dl.doubtnut.com/l/_LLEze7Mmfzcf


C. average speed and velocity depends

upon the path

D. average velocity is zero, but not the

average speed.

Answer:

Watch Video Solution

71. An open car is moving with uniform

velocity. A person sitt in the car projected a

ball vertically upwards. The ball

https://dl.doubtnut.com/l/_LLEze7Mmfzcf
https://dl.doubtnut.com/l/_KSiXNaVYG9du


A. falls back in his hand

B. Falls outisde the car

C. Falls by the side of car

D. falls in front of the car

Answer:

Watch Video Solution

72. A 130 m long train is moving in a direction

with speed  . Another train moving20ms− 1

https://dl.doubtnut.com/l/_KSiXNaVYG9du
https://dl.doubtnut.com/l/_u8dpbF3F0JZI


with  and 120 m long crosses the first

train in a time

A. 6s

B. 36s

C. 38s

D. none

Answer:

Watch Video Solution

30ms− 1

https://dl.doubtnut.com/l/_u8dpbF3F0JZI


73. A stone is thrown vertically upwards by a

boy. It returns to hs hands in 3 seconds. How

high does the stone rise?

A. 11 m

B. 12 m

C. 3 m

D. 44 m

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Bt8nCfypnMCX


74. Which of the following is a vector?

A. Work

B. Speed

C. Acceleration

D. Mass

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_HVX9tqX8FjL1


75. A body is travelling at a constant speed in

a circle. It has

A. constant velocity

B. it is not accelerated

C. an inward radial acceleration

D. an outward radial acceleration.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gAz6QE0ByFeo
https://dl.doubtnut.com/l/_nWe9IMGboq96


76. The angular velocity of earth's rotations on

its geographical axis is

A. rad/hour

B. rad/hour

C. rad/hour

D. 15 rad/hour

Answer:

Watch Video Solution

π

6

π

12

π

24

https://dl.doubtnut.com/l/_nWe9IMGboq96


77. A paticle of mass m is executing uniform

circular motion on a path of radius r. If p is the

magnitude of its linear momentum, then the

radial force acting on the particle is

Watch Video Solution

78. Define rest.

Watch Video Solution

https://dl.doubtnut.com/l/_rdcC1mlhnEBj
https://dl.doubtnut.com/l/_gRCOMCcaJKi2


79. Define Motion. Why are tehse term called

relative? Given an example of each.

Watch Video Solution

80. Are rest and motion absolute terms?

Watch Video Solution

81. Why are rest and motion relative terms?

Watch Video Solution

https://dl.doubtnut.com/l/_g7lIvHHsf34i
https://dl.doubtnut.com/l/_SyHbWxyAqfdX
https://dl.doubtnut.com/l/_AeM6jcFTQRUi


82. Define distance.

Watch Video Solution

83. Is distance a scalar quantity?

Watch Video Solution

84. What is the SI unit of distance?

Watch Video Solution

https://dl.doubtnut.com/l/_AeM6jcFTQRUi
https://dl.doubtnut.com/l/_X1jZq7ZCfpIk
https://dl.doubtnut.com/l/_s24otyp9GAS0
https://dl.doubtnut.com/l/_kiR00QgLPq3T


85. Define displacement.

Watch Video Solution

86. What is the SI unit of displacement?

Watch Video Solution

87. Is displacement a scalar quantity ? Why?

Watch Video Solution

https://dl.doubtnut.com/l/_kiR00QgLPq3T
https://dl.doubtnut.com/l/_UwnNW9AHP9Qq
https://dl.doubtnut.com/l/_7Cu8i77Rxl2x
https://dl.doubtnut.com/l/_1DzSqg6IViMq


88. Can distance travelled by a moving body be

zero?

Watch Video Solution

89. Can displacement of a body be zero?

Watch Video Solution

90. Can overall energy of a body be negative?

https://dl.doubtnut.com/l/_1DzSqg6IViMq
https://dl.doubtnut.com/l/_n8oRjZ94XCMr
https://dl.doubtnut.com/l/_msgWbIZIvNUo
https://dl.doubtnut.com/l/_zZSFHoJvqhkv


Watch Video Solution

91. Define speed.

Watch Video Solution

92. What is the SI unit of speed ?

Watch Video Solution

93. Is speed a vector quantity?

https://dl.doubtnut.com/l/_zZSFHoJvqhkv
https://dl.doubtnut.com/l/_9I4pwZ88HTBE
https://dl.doubtnut.com/l/_acBGkFnDDQcC
https://dl.doubtnut.com/l/_wKqoW14k0x6i


Watch Video Solution

94. What is the relationship between 

and ?

Watch Video Solution

kmh− 1

ms− 1

95. What does the speedometer of a vehicle

measure?

Watch Video Solution

https://dl.doubtnut.com/l/_wKqoW14k0x6i
https://dl.doubtnut.com/l/_KLkMGF7Coegw
https://dl.doubtnut.com/l/_JqAahal8CcBh
https://dl.doubtnut.com/l/_VndLk0i8SBIV


96. Define velocity.

Watch Video Solution

97. What is the SI unit of velocity?

Watch Video Solution

98. Define acceleration .What are positive and

negative accelerations?

Watch Video Solution

https://dl.doubtnut.com/l/_VndLk0i8SBIV
https://dl.doubtnut.com/l/_FR0zXi1Iudi1
https://dl.doubtnut.com/l/_Xwciq45RfvLI


99. What is the SI unit of acceleration ?

Watch Video Solution

100. What do we mean by saying that the

acceleration of body is ?

Watch Video Solution

3ms− 2

https://dl.doubtnut.com/l/_Xwciq45RfvLI
https://dl.doubtnut.com/l/_uYBmkl4Yfftw
https://dl.doubtnut.com/l/_9QBz4QkcLhVg


101. When do we say that a body is retarding

or decelerating?

Watch Video Solution

102. What is the difference between average

speed and instataneous speed?

Watch Video Solution

https://dl.doubtnut.com/l/_dWeXJbtGA9jS
https://dl.doubtnut.com/l/_YpF0PGTLfBIQ


103. Can average speed and instaneous speed

by equal? Explain.

Watch Video Solution

104. Define uniform motion.

Watch Video Solution

105. Can be a body be accelerated, if it is

moving with constant speed?

https://dl.doubtnut.com/l/_QjocnesWkKWU
https://dl.doubtnut.com/l/_yOHfHzOaVAzc
https://dl.doubtnut.com/l/_luQYyLGeDDBT


Watch Video Solution

106. If a body cover a distance x with speed 

and then it covers another distance x with

speed , find the average speed for the whole

journey.

Watch Video Solution

v1

v2

107. If a body covers a three equal distances

with speeds  then what is thev1, v2 and v3

https://dl.doubtnut.com/l/_luQYyLGeDDBT
https://dl.doubtnut.com/l/_kAhlMBeatSBa
https://dl.doubtnut.com/l/_M4iMSfoU8jRu


average speed of the body?

Watch Video Solution

108. If a body travels for time 't' with speed 

and then it further travels for time 't' with

speed  find the average speed.

Watch Video Solution

v1

v2

109. If a body covers a three equal distances

with speeds  then what is thev1, v2 and v3

https://dl.doubtnut.com/l/_M4iMSfoU8jRu
https://dl.doubtnut.com/l/_t9rC50NjNK5n
https://dl.doubtnut.com/l/_bWiyWzjL3d5R


average speed of the body?

Watch Video Solution

110. Convert 5m/min in 

Watch Video Solution

ms− 1

111. Convert 5m/min in 

Watch Video Solution

kmh− 1

https://dl.doubtnut.com/l/_bWiyWzjL3d5R
https://dl.doubtnut.com/l/_lb6u2kAgG3XU
https://dl.doubtnut.com/l/_Kq0vnWdRaZl3
https://dl.doubtnut.com/l/_eDWO82bCIoIT


112. Discuss whether the walls of your

classroom are at rest or motion.

Watch Video Solution

113. Have you ever experienced that the train

in which you are sitting appears to move while

it is actually at rest ? Discuss.

Watch Video Solution

https://dl.doubtnut.com/l/_eDWO82bCIoIT
https://dl.doubtnut.com/l/_fcI8RE5OKwqe


114. Measure the time it takes you to walk from

house to school. If you consider that your

would speed is . Find the distance

between house and school.

Watch Video Solution

3kmh− 1

115. A cyclist traels a distance of 4 km from P to

Q then moves a distance of 3 km at rigt angles.

Find his resultant displacement graphically.

Watch Video Solution

https://dl.doubtnut.com/l/_JowwRWRedsZ2
https://dl.doubtnut.com/l/_El6KvGIoPNLB


116. A particle moves 3 m north, then 4m, east

and then 6m south. Calculate the

displacement.

Watch Video Solution

117. An athelete completes one round of a

circular travel diameter 49 m in 20s. Calculate

the distance correct and displacement at the

end of 30s.

Watch Video Solution

https://dl.doubtnut.com/l/_El6KvGIoPNLB
https://dl.doubtnut.com/l/_GuGvX3m1v6MJ
https://dl.doubtnut.com/l/_R8MRTIugjWEA


118. What are enantiomers ? Give an example.

Watch Video Solution

119. In case of a moving body can distance

travelling less than displacement?

Watch Video Solution

https://dl.doubtnut.com/l/_R8MRTIugjWEA
https://dl.doubtnut.com/l/_B7sBCbwkitZ4
https://dl.doubtnut.com/l/_9T1mvxQvMwYM


120. Give some points of differences between

distance and displacement.

Watch Video Solution

121. . Interpret.

Watch Video Solution

≥ 1
Speed

|velocity|

122. Differentiate between speed and velocity.

Watch Video Solution

https://dl.doubtnut.com/l/_mJKEoqQqs8Wu
https://dl.doubtnut.com/l/_y92HidDvyv94
https://dl.doubtnut.com/l/_yHv2lCczz9yy


123. At a time when it is cloudy, there may be

frequent thunder and lightning. The sound of

thunder takes some time to reach you after

you see the lightning. Can you answer why this

happens? Measure this time interval using a

stop watch. Calculate the distance of the

nearest point of lightning (speed of sound in

air = 346 ms^-1)`

Watch Video Solution

https://dl.doubtnut.com/l/_yHv2lCczz9yy
https://dl.doubtnut.com/l/_6eIMpA3irznK
https://dl.doubtnut.com/l/_6F1998WCm2w0


124. Given an example of each acceleration is

in the direction of motion.

Watch Video Solution

125. Given an example of each acceleration is

against the direction of motion.

Watch Video Solution

126. Given an example of each acceleration is

uniform.

https://dl.doubtnut.com/l/_6F1998WCm2w0
https://dl.doubtnut.com/l/_VrXhxGkGpkW9
https://dl.doubtnut.com/l/_jp2DI3n9LXin


Watch Video Solution

127. Given an example of each acceleration is

non-uniform.

Watch Video Solution

128. Draw a position time graph of a body at

rest at 5 m from the origin.

Watch Video Solution

https://dl.doubtnut.com/l/_jp2DI3n9LXin
https://dl.doubtnut.com/l/_KdntCXwtMnzz
https://dl.doubtnut.com/l/_PDwMfufEJEh8
https://dl.doubtnut.com/l/_x2dmISjpMiTR


129. Find the speed of the body from the

following graph. 

Watch Video Solution

130. In the graph ,what is the distance covered

by the body in 5 sec?

https://dl.doubtnut.com/l/_x2dmISjpMiTR
https://dl.doubtnut.com/l/_6efe3G5vWfIp


Watch Video Solution

131. In the graph , what is the distance covered

by the body in 2.5 sec 

https://dl.doubtnut.com/l/_6efe3G5vWfIp
https://dl.doubtnut.com/l/_fYYt3o6Y7glq


Watch Video Solution

132. What is the following graph depicitng

about the motion of an object? 

https://dl.doubtnut.com/l/_fYYt3o6Y7glq
https://dl.doubtnut.com/l/_BMXaQxbpzaQ1


Watch Video Solution

133. How can you get the distance travelled by

an object form its speed-time graph? Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_BMXaQxbpzaQ1
https://dl.doubtnut.com/l/_OnYpVoScrhX5
https://dl.doubtnut.com/l/_2xlA8ZaOh5sR


134. How can the distance travelled by an

object be calculated from the velocity - time

graph?

Watch Video Solution

135. How do you get the displacement of a

particle in a time interval  to  from its

velocity-time graph? Explain with an example.

Watch Video Solution

t1 t2

https://dl.doubtnut.com/l/_2xlA8ZaOh5sR
https://dl.doubtnut.com/l/_MAUPneKSJjiw


136. Study the velocity-time graph and

calculate: 

 The

acceleration from A to B

Watch Video Solution

https://dl.doubtnut.com/l/_JOeuGRA0LP9E


137. Study the velocity-time graph and

calculate: 

 The

acceleration from A to B.

Watch Video Solution

https://dl.doubtnut.com/l/_2lXbA42sh0GE


138. Study the velocity-time graph and

calculate: 

The

distance covered in region ABE.

Watch Video Solution

https://dl.doubtnut.com/l/_UaAv380oU5dm


139. Study the velocity-time graph and

calculate: 

 The

average velocity from C to D.

Watch Video Solution

https://dl.doubtnut.com/l/_NpnwnALMn9lV


140. Study the velocity-time graph and

calculate: 

 The

distance covered in region BCFE

Watch Video Solution

https://dl.doubtnut.com/l/_IUywAxUBAvzd


141. What do you mean by ?

Watch Video Solution

5ms− 2

142. Define acceleration.

Watch Video Solution

143. A body starts form rest. What can be

interpreted by this statement?

Watch Video Solution

https://dl.doubtnut.com/l/_HFP2bjaUVOJl
https://dl.doubtnut.com/l/_3bVNEdNGT3Yo
https://dl.doubtnut.com/l/_7wagZWYOc71k


144. A body ultimately stops. What can be

interpreted by this statement?

Watch Video Solution

145. Can we use equations of motion for

motion having varaible acceleration?

Watch Video Solution

https://dl.doubtnut.com/l/_7wagZWYOc71k
https://dl.doubtnut.com/l/_4ZFRGbZafIbQ
https://dl.doubtnut.com/l/_6CaGpsTQz1cF


146. Give example of a motion in which speed

of a body constant but the body is in

accelerated motion.

Watch Video Solution

147. Equations of motions can be used if

acceleration depends on time Comment.

Watch Video Solution

https://dl.doubtnut.com/l/_TkbJsj3eUfU5
https://dl.doubtnut.com/l/_nUI2pfQhC7xF


148. For distance we can use

equations of motion. Comment.

Watch Video Solution

∝ (time)2

149. For distance  we can use

equations of motion. Comment.

Watch Video Solution

∝ (time)3

150. What do you mean by ions ?

https://dl.doubtnut.com/l/_P7WZ7jTB0D3Q
https://dl.doubtnut.com/l/_3iBd8ZSYwwTW
https://dl.doubtnut.com/l/_7Fv7Agc7939k


Watch Video Solution

151. If a spoon is dropped from an artificial

satellite orbiting around the earth, will it

reach the surface of earth? If not, then explain

why.

Watch Video Solution

152. Explain that a uniform circular motion is

an accelerated motion.

https://dl.doubtnut.com/l/_7Fv7Agc7939k
https://dl.doubtnut.com/l/_GxCTg2nRW37w
https://dl.doubtnut.com/l/_xCH5F6parYsb


Watch Video Solution

153. Name a physical quantity which varies.

A. velocity

B. distance

C. speed

D. temperature

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_xCH5F6parYsb
https://dl.doubtnut.com/l/_rJ3JR39LeFAK
https://dl.doubtnut.com/l/_hzIdVf9jCOIG


154. Name a physical quantity which remains

constant when a body moves in a uniform

circular motion.

Watch Video Solution

155. Write equations of motion for a body

starting from rest and moving with constant

acceleration.

Watch Video Solution

https://dl.doubtnut.com/l/_hzIdVf9jCOIG
https://dl.doubtnut.com/l/_LVJU1LSvfao9
https://dl.doubtnut.com/l/_Z4aurI57A1q5


156. A body is projected in vertically upwards

direction with a speed u. Find the time taken

Watch Video Solution

157. A body is projected in vertically upwards

direction with a speed u. Find the distance

travelled by the body in reaching its topmost

point.

Watch Video Solution

https://dl.doubtnut.com/l/_Z4aurI57A1q5
https://dl.doubtnut.com/l/_sdTyFhVNGlIw


158. Derive second equation of motion by a

method other than graphical method.

Watch Video Solution

159. Identify the kind of motion in the

following cases: A car moving with constant

speed turning around a curve.

Watch Video Solution

https://dl.doubtnut.com/l/_WemcfmSO1GlR
https://dl.doubtnut.com/l/_aPXZYxnkG2rQ


160. Identify the kind of motion in the

following cases: An electron orbiting around a

nucleus.

Watch Video Solution

161. An artificial satellite is moving in a circular

orbit of radius 42250 km. Calculate its speed if

its takes 24 hours to revolve around the Earth.

Watch Video Solution

https://dl.doubtnut.com/l/_0gMV650KjyzJ
https://dl.doubtnut.com/l/_t8bPhGZnUALR
https://dl.doubtnut.com/l/_yP73uSVCp0Hc


162. Derive second equation of motion by a

method other than graphical method.

Watch Video Solution

163. Derive third equation of motion by

graphical method.

Watch Video Solution

https://dl.doubtnut.com/l/_yP73uSVCp0Hc
https://dl.doubtnut.com/l/_KVqn4JpX5nBj


164. Derive third equation of motion by

graphical method.

Watch Video Solution

165. A particle is moving in a circular path of

radius r. The displacement after half a circle

would be

A. zero

B. πr

https://dl.doubtnut.com/l/_UURjTS34ZJ0F
https://dl.doubtnut.com/l/_pe56umf8VnKo


C. 2r

D. 

Answer:

Watch Video Solution

2πr

166. A body is thrown vertically upward with

velocity u, the greatest height h to which it

will rise is

A. u/g

https://dl.doubtnut.com/l/_pe56umf8VnKo
https://dl.doubtnut.com/l/_yFSke7wgHk5i


B. 

C. 

D. u/2g

Answer:

Watch Video Solution

u2 /2g

u2 /g

167. The ratio of displacement to distance is :

A. always less than 1

B. always equal to 1

https://dl.doubtnut.com/l/_yFSke7wgHk5i
https://dl.doubtnut.com/l/_peNMafLw1U6U


C. always more than 1

D. equal or less than1

Answer:

Watch Video Solution

168. If the displacement of an object is

proportional to square of time, then the

object moves with

A. uniform velocity

https://dl.doubtnut.com/l/_peNMafLw1U6U
https://dl.doubtnut.com/l/_JAqajbxg4Ld7


B. uniform acceleration

C. increasing acceleration

D. decreasing acceleration

Answer:

Watch Video Solution

169. Suppose a boy is enjoying a ride on a

merry-go-round which is moving with a

constant speed of  . It implies that the

boy is

10ms− 1

https://dl.doubtnut.com/l/_JAqajbxg4Ld7
https://dl.doubtnut.com/l/_ndVFWxqnASHe


A. at rest

B. moving with no acceleration

C. in accelerated motion

D. moving with uniform velocity

Answer:

Watch Video Solution

170. Area under a v-t graph represents a

physical quantity which has the unit

https://dl.doubtnut.com/l/_ndVFWxqnASHe
https://dl.doubtnut.com/l/_3xqZj0ESwEor


A. 

B. m

C. 

D. 

Answer:

Watch Video Solution

m2

m3

ms− 1

171. Slope of a velocity-time graph gives

A. the distance

https://dl.doubtnut.com/l/_3xqZj0ESwEor
https://dl.doubtnut.com/l/_71Qx9gnEOHO1


B. the displacement

C. the acceleration

D. the speed

Answer:

Watch Video Solution

172. In which of the following cases of an the

distance moved and the magnitude

displacement are equal?

https://dl.doubtnut.com/l/_71Qx9gnEOHO1
https://dl.doubtnut.com/l/_eQADUuZ3BQYM


A. If the car is moving on straight road

B. If the car is moving in circular path

C. The pendulum is moving to and fro

D. The earth is revolving around the sun

Answer:

Watch Video Solution

173. A car starts from rest and moves with

uniform acceleration a on a straight road from

time t=0 to t=T. After that, a constant

https://dl.doubtnut.com/l/_eQADUuZ3BQYM
https://dl.doubtnut.com/l/_hxCuzwGwO4S3


deceleration brings it to rest. In this process

the average speed of the car is

A. 

B. 

C. aT/2

D. 

Answer:

Watch Video Solution

αt

βt

( )
αβ

α + β

https://dl.doubtnut.com/l/_hxCuzwGwO4S3


174. A body falling from rest describes

distances  is the 1st, 2nd and

3rd seconds of its fall Then the ratio of

 is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

S1, S2 and S3

S1 : S2 : S3 :

1: 1: 1

1: 3: 5

1: 2: 3

1: 4: 9

https://dl.doubtnut.com/l/_ml3tAX4sKXJB


Watch Video Solution

175. A person takes time to go once around a

circular path of diamter 2R. The speed (v) of

this person would be

A. 

B. 

C. 

D. 

Answer:

t

2πR

2πR
t

πR2

t

2πRt

https://dl.doubtnut.com/l/_ml3tAX4sKXJB
https://dl.doubtnut.com/l/_21TEPlupF209


Watch Video Solution

176. A man walks along the footpath of a

circular garden.During his motion along the

circular path he makes several rounds.His net

displacement will be zero whenever his

distance traveled in multiples of

A. its radius

B. its diameter

C. circumference of circular path

D. area of circle

https://dl.doubtnut.com/l/_21TEPlupF209
https://dl.doubtnut.com/l/_4pZvUEXLtXEz


Answer:

Watch Video Solution

177. Which of the following situation is not

possible?

A. An object moving in certain direction

with an acceleration in perpendicular

direction

https://dl.doubtnut.com/l/_4pZvUEXLtXEz
https://dl.doubtnut.com/l/_k7P6CXEdXaX7


B. An object moving with constant

acceleration but zero velocity.

C. An object moving with variable speed

and uniform velocitty.

D. None of the above

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_k7P6CXEdXaX7


178. A ball thrown up vertically returns to the

thrower after 6 s. Find its position after 4 s.

A. 2.5s

B. 3s

C. 4s

D. 5s

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_gIU6expPiqrl
https://dl.doubtnut.com/l/_rUNGczQnldLu


179. A particle starts its motion from rest

under the of a constant force. If the distance

covered in is  and that covered in first 

 then

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

S1

20sisS2

S2 = s1

S2 = 2S1

S2 = 3S1

S2 = 4S1

https://dl.doubtnut.com/l/_rUNGczQnldLu


180. The initial odometer reading of a cab is

369 km. It travelled for 2 hrs and final reading

is 469 km. find out the avg speed of the cab.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

14ms− 1

11ms− 1

8ms− 1

17ms− 1

https://dl.doubtnut.com/l/_rUNGczQnldLu
https://dl.doubtnut.com/l/_HOdfoqtAmGc6


181. Observe the given distance-time graph.

Identify the repsective speeds of the body it

oves form O to A and B to C

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2kmh− 1, 4kmh− 1

1kmh− 1, 3kmh− 1

3kmh− 1, 5kmh− 1

4kmh− 1, 6kmh− 1

https://dl.doubtnut.com/l/_HOdfoqtAmGc6
https://dl.doubtnut.com/l/_FCPDdE42Eb1M


182. Identify the vector quantity among the

following:

A. speed

B. velocity

C. weight

D. linear momentum

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_FCPDdE42Eb1M
https://dl.doubtnut.com/l/_DQzx5932iohX


183. Which of the following is an example of

units circular motion?

A. The movement of a seconds hand of a

B. The movement of a car on highway cu

C. The movement of clothes in a dryer

washing machine

D. The movement of passenger cabin on a

wheel.

https://dl.doubtnut.com/l/_DQzx5932iohX
https://dl.doubtnut.com/l/_vyLfRqJARrtU


Answer:

Watch Video Solution

184. A body is thrown vertically upwords. At

the upmost point of its motion its

acceleration is

A. zero

B. g upwords

C. g downwords

D. none of the above

https://dl.doubtnut.com/l/_vyLfRqJARrtU
https://dl.doubtnut.com/l/_yyOX5oEeYMQZ


Answer:

Watch Video Solution

185. Identity which of the statements given

below are applicable for an object to move in a

circle.

A. Object must continually slow down

B. Object must accelerate

C. Object must be acted on by balanced

forces

https://dl.doubtnut.com/l/_yyOX5oEeYMQZ
https://dl.doubtnut.com/l/_fbSasPTY2hPn


D. Object must move with uniform velocity.

Answer:

Watch Video Solution

186. When will a body have zero speed?

A. When the body is always under rest

B. When the body has non-uniform

acceleration

C. When the body has uniform velocity

https://dl.doubtnut.com/l/_fbSasPTY2hPn
https://dl.doubtnut.com/l/_0dCohHvIAoHq


D. When the body is always under motion

Answer:

Watch Video Solution

187. A ball dropped from a height 'h' reaches

the ground in time 'T'. What is its height from

the ground at time ?

A. 

B. 

T

2

h

28

h

4

https://dl.doubtnut.com/l/_0dCohHvIAoHq
https://dl.doubtnut.com/l/_0xLMdZh3gCJR


C. 

D. 

Answer:

Watch Video Solution

h

2

3h
4

188. An insect moves along the sides of a wall

of dimensions  starting from one

corner and reaches the diagonally opposite

corner. If the insect takes 2s for its motion

12m × 5m

https://dl.doubtnut.com/l/_0xLMdZh3gCJR
https://dl.doubtnut.com/l/_eYVZi4PK4OhD


then find the ratio of average speed to

average velocity of the insect.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

17: 13

12: 5

13: 5

17: 12

https://dl.doubtnut.com/l/_eYVZi4PK4OhD


189. The distance travelled by a body in the nth

second is given by the expression (4+ 6n). Find

the initial velocity and acceleration.

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3ms− 1, 6ms− 2

7ms− 1, 4ms− 2

7ms− 1, 6ms− 2

7ms− 1, 4ms2

https://dl.doubtnut.com/l/_3NqnxVPObJjC


190. A body losses half of its velocity while

penetrating 3 cm into a wooden block, then

how much will it penetrate ore before coming

to rest?

A. 1 cm

B. 2 cm

C. 3 cm

D. 4 cm

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_ABLDYqG3YnsQ


191. Which of the following example shows, an

object does not change its magnitude of

velocity but only its direction of motion?

A. Parachutist bailing out of an aeroplane

B. Motion of a body along a circular path

C. A body moving up against gravity

D. A car moving with uniform velocity in a

straight line

https://dl.doubtnut.com/l/_ABLDYqG3YnsQ
https://dl.doubtnut.com/l/_Y6j7XI9DAY2r


Answer:

Watch Video Solution

192. A ball is released from the top of a tower

of height h metre. It takes T second to reach

the ground. What is the position of the ball in

T/3 second?

A. h/9 metres from ground

B. 7h/9m from ground

C. 8h/9 m from ground

https://dl.doubtnut.com/l/_Y6j7XI9DAY2r
https://dl.doubtnut.com/l/_DjCsqsH3AmIk


D. 4h/9 m from ground

Answer: 17h/18m from ground

Watch Video Solution

193. Which of the following statements is not

true for a particle moving in a circle with a

constant angular speed?

A. The velocity vector is tangent to the

circle

https://dl.doubtnut.com/l/_DjCsqsH3AmIk
https://dl.doubtnut.com/l/_9GIF00ZrNewd


B. The acceleration vector is tangent to the

circle

C. The acceleration vector points to the

centre of the circle.

D. The velocity and acceleration vectors are

perpendicular to each other

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_9GIF00ZrNewd


194. A parachutist after bailing out falls 50 m

without friction When parachute opens, he

descends at 2 ms and reaches the ground with

a speed of 3 m l At what height did he bailout

?

A. 293 m

B. 111 m

C. 91 m

D. 182 m

Answer:

https://dl.doubtnut.com/l/_VGzHga5EEeZu


Watch Video Solution

195. In a 100 m race between Ramesh and

Suresh, Ramesh wins the race. Assuming they

run uniform acceleration. Which of the

following correct?

A. Acceleration of Suresh is more than

Ramesh

B. Acceleration of Ramesh is more than

Suresh

https://dl.doubtnut.com/l/_VGzHga5EEeZu
https://dl.doubtnut.com/l/_yY9ttrTUiyl0


C. Both Suresh and Ramesh have a

acceleration

D. Both Suresh and Ramesh have equal

award velocities

Answer:

Watch Video Solution

196. If the acceleration of the particle is

constant in magnitude but ot in direction,

what type of path does the particle follow?

https://dl.doubtnut.com/l/_yY9ttrTUiyl0
https://dl.doubtnut.com/l/_8tDSkP45dtD4


A. Straight line

B. Circular path

C. Ellipical path

D. Parabolic path

Answer:

Watch Video Solution

197. While testing the safety of a car, a dummy

driver is used and the car is propelled at

different speeds to hit a rigid wall. In one such

https://dl.doubtnut.com/l/_8tDSkP45dtD4
https://dl.doubtnut.com/l/_19cE1O4WfckL


test, the dummy driver had a mass of 70 kg

and the speed of the car just before impact

was . If the time interval between the

collision and the car coming to rest was 0.2 s,

then find the deceleration of the dummy

driver due to impact.

A. 

B. 

C. 

D. 

Answer:

40ms− 1

200ms− 2

80ms− 2

110ms− 2

280ms− 2

https://dl.doubtnut.com/l/_19cE1O4WfckL


Watch Video Solution

198. Two ends of a train moving with a

constant acceleration pass a certain point

with velcities u and v. Show that the velocity

with which the middle point of the train

passes the same point is 

A. 14 kmph

B. 5 kmph

C. 

√u2 + v2 /2.

5√2kmph

https://dl.doubtnut.com/l/_19cE1O4WfckL
https://dl.doubtnut.com/l/_yPzmitCgnv2p


D. 10 kmph

Answer:

Watch Video Solution

199. For a moving particle, what does 'decrease

in displacement with time' mean?

A. The particle is moving towards its initial

position.

https://dl.doubtnut.com/l/_yPzmitCgnv2p
https://dl.doubtnut.com/l/_eRDwuijpbvIn


B. The acceleration of the particles is

approaching zero

C. The particle is moving with uniform

speed

D. The particle is moving with uniform

motion.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_eRDwuijpbvIn


200. A particle is moving along a circular track

of radius 1m with uniform speed. What is the

ratio of the distance covered and the

displacement in half revolution?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1: 1

0: 1

π : 1

π : 2

https://dl.doubtnut.com/l/_OkyFQPL1xNos


Watch Video Solution

201. Which of the following is the common

characteristic of all moving bodies?

A. They do not change their position with

time

B. They change their position with time

C. They always travel with uniform speed.

D. Equations of motion have to be aplied to

them

https://dl.doubtnut.com/l/_OkyFQPL1xNos
https://dl.doubtnut.com/l/_LWxtGnObBbDW


Answer:

Watch Video Solution

202. A body moves with constant retardation

along a straight line. Which of the given

physical quantities of the body decrease

during its motion?

A. speed

B. Velocity

C. Displacement

https://dl.doubtnut.com/l/_LWxtGnObBbDW
https://dl.doubtnut.com/l/_6e1O8EtwExiY


D. Time

Answer:

Watch Video Solution

203. When can the magnitude of displacement

be equal to the distance covered by a body?

A. When the motion of the body is towards

the initial position

https://dl.doubtnut.com/l/_6e1O8EtwExiY
https://dl.doubtnut.com/l/_RLgu5rwMWkLw


B. When the motion of the body is along a

straight line

C. When the motion of the body is along a

curved path

D. When the body moves with a uniform

speed along a circular path.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_RLgu5rwMWkLw


204. Under what condition is distance and

magnitude of displacement equal?

Watch Video Solution

205. What do you mean by positive and

negative acceleration?

Watch Video Solution

https://dl.doubtnut.com/l/_MvZPMYomTS8w
https://dl.doubtnut.com/l/_ruJkcaHPH87r


206. Figure given shows the displacement-time

graph of four children A,B,C and D. Which child

has the highest velocity? 

Watch Video Solution

https://dl.doubtnut.com/l/_nD29kQiSK3c2


207. Give one example each distinguishing

between uniform acceleration and non-

uniform acceleration.

Watch Video Solution

208. A cyclist travels a distance of 4 km from A

to B and then moves a distance of 3 km at

right angle to AB his resultant displacement

and total distance travelled.

Watch Video Solution

https://dl.doubtnut.com/l/_R9cq61n0ovK2
https://dl.doubtnut.com/l/_b6kBDqjPzKmL


209. Velocity of a particle moving along a

straight in a a certain tie interval is shown.

What is distance travelled during

acceleration? 

Watch Video Solution

https://dl.doubtnut.com/l/_b6kBDqjPzKmL
https://dl.doubtnut.com/l/_6A718QUIWdiL


210. Explain the differences between the two

graph shown in the figure 

Watch Video Solution

211. A flyover is 500 m long. A 10 m long bus

crosses the flyover at a speed of . Find

the time taken by to cross it.

Watch Video Solution

30ms− 1

https://dl.doubtnut.com/l/_H3duB7XHqwxa
https://dl.doubtnut.com/l/_NUmFfHBtUouT


212. A cyclsit goes around a circular track once

every 2 minutes. If radius of the circular track

is 110 m, calculate the speed of the cyclist.

Watch Video Solution

213. The velocity time graph represents motion

of an object for 350s. Calculate the

acceleration of the object for the time internal

https://dl.doubtnut.com/l/_NUmFfHBtUouT
https://dl.doubtnut.com/l/_USyIFLvEJvFO
https://dl.doubtnut.com/l/_OfhQMb6pVRkn


100 sec < t < 200 sec. 

Watch Video Solution

214. The velocity time graph represents

motion of an object for 350s. Calculate the

https://dl.doubtnut.com/l/_OfhQMb6pVRkn
https://dl.doubtnut.com/l/_QozfE2iCObI1


displacement of the object in 0 to 350 sec.

Watch Video Solution

215. The velocity time graph represents motion

of an object for 350s. Which type of motion is

represented by BC in the velocity-time graph?

https://dl.doubtnut.com/l/_QozfE2iCObI1
https://dl.doubtnut.com/l/_cgxsHqpN0mh9


Watch Video Solution

216. Draw velocity-time graph for a uniformly

accelerated object. Using velocity-time graph

derive v = u + at

Watch Video Solution

217. A particle is moving in a circular path of

radius r. The displacement after half a circle

would be

https://dl.doubtnut.com/l/_cgxsHqpN0mh9
https://dl.doubtnut.com/l/_bzAzS9bwkYan
https://dl.doubtnut.com/l/_ouQegPbmUQsR


A. zero

B. 

C. 

D. 

Answer:

Watch Video Solution

πr

2r

2πxr

218. The ratio of displacement to distance is :

A. always less than 1

https://dl.doubtnut.com/l/_ouQegPbmUQsR
https://dl.doubtnut.com/l/_yOSsjKRRmlGP


B. always equal to 1

C. always more than 1

D. equal or less than1

Answer:

Watch Video Solution

219. Area under a v-t graph represents a

physical quantity which has the unit

A. ms− 1

https://dl.doubtnut.com/l/_yOSsjKRRmlGP
https://dl.doubtnut.com/l/_1gVwF7PojeI9


Example

B. m

C. 

D. 

Answer:

Watch Video Solution

m2

m3

1. Let a car stawrt from I (initial position) and

move in a semi-circular path in clockwise

https://dl.doubtnut.com/l/_1gVwF7PojeI9
https://dl.doubtnut.com/l/_TRuJ92X01Cpf


direction and reach f (Final position) which is

diametrically opposite to i. Distance = 

Displacement = 

Watch Video Solution

πr

2r

2. A circular cycle track has a circumference of

314 m with AB as one of its diameter.s A cyclist

travels form A to B along the circular path

with a velocity of constant magnitude 15.7 m/s.

Find the distance moved by cyclist.

Watch Video Solution

https://dl.doubtnut.com/l/_TRuJ92X01Cpf
https://dl.doubtnut.com/l/_HHaNR7XO0bBV


3. A circular cycle track has a circumference of

314 m with AB as one of its diameter.s A cyclist

travels form A to B along the circular path

with a velocity of constant magnitude 15.7 m/s.

Find the displacement of the cyclist of AB

represents north -south direction, with A

towards North and B towards south.

Watch Video Solution

https://dl.doubtnut.com/l/_HHaNR7XO0bBV
https://dl.doubtnut.com/l/_zICbkaMA6F8x


4. A woman travels a distance of 1 m towards

north then 2m towards east and finally 3m

towards south. Find the total distance

Watch Video Solution

5. A woman travels a distance of 1 m towards

north then 2m towards east and finally 3m

towards south. Find the displacement.

Watch Video Solution

https://dl.doubtnut.com/l/_F97NtFJhFiQT
https://dl.doubtnut.com/l/_9YdhnjY38Xff
https://dl.doubtnut.com/l/_GdjHaSXGrGKt


6. Rita takes 20 minutes to cover a distance of

3.2 kilometres on a bicycle . Calculate her

speed in units of kilometer/min and

metre/min.

Watch Video Solution

7. A car travels 4 km in 3 minutes. Find the

speed of car in 

Watch Video Solution

cms− 1

https://dl.doubtnut.com/l/_GdjHaSXGrGKt
https://dl.doubtnut.com/l/_ZahBCP570rhf
https://dl.doubtnut.com/l/_VGOMCX1OWCAP


8. A car travels 20 km in 1 hour and another 40

km in 3 hour. What is the average speed of the

car?

Watch Video Solution

9. A car travels the first  with a speed of

 and the next 40 km with a speed

of . Find the average speed?

Watch Video Solution

20km

40kmh − 1

80kmh− 1

https://dl.doubtnut.com/l/_VGOMCX1OWCAP
https://dl.doubtnut.com/l/_rnS7Yg5WaXKz


10. On a 120km road, a car travels the first

30km with at a uniform speed of 30km/h. How

fast must the car travel for the rest of track so

as to have an average speed of 60km/h for the

entire journey?

Watch Video Solution

11. A train covers half of its journey with a

speed of 30 metre per second and the other

half with a speed of 40 km per hour calculate

https://dl.doubtnut.com/l/_KLJAae8qFL7J
https://dl.doubtnut.com/l/_LWYH2dYnlq7g


the average speed of the train during the

whole journey.

Watch Video Solution

12. A train travels at a speed of 60 km/h for

0.52 h, at 30 km/h for the next 0.24 h and then

at 70 km/h for the next 0.71 h. What is the

average speed of the train ?

Watch Video Solution

https://dl.doubtnut.com/l/_LWYH2dYnlq7g
https://dl.doubtnut.com/l/_dGytwuWA7Dva


13. A man walks at 1m/s for 60 minutes he

takes rest for 20 minutes and then walks at a

seed of 1m/s for 60 minutes find his average

speed.

Watch Video Solution

14. A car travelling with a speed of 

increases its speed to  in a time

interval of 4s. What is the acceleration of car?

Watch Video Solution

2ms− 1

10ms− 1

https://dl.doubtnut.com/l/_mNaUn92g7B8E
https://dl.doubtnut.com/l/_rSXIuCEz0fEo


15. A car travelling at a speed of 

applies brackes and stops within 10s. What is

the acceleration of car?

Watch Video Solution

20ms− 1

16. The time between a clap and its echo from

a wall is 0.1 s. If the distance of the wall be 17.5

m, calculate the speed of sound.

Watch Video Solution

https://dl.doubtnut.com/l/_rSXIuCEz0fEo
https://dl.doubtnut.com/l/_wcySnA6q9ryz
https://dl.doubtnut.com/l/_0MdGH2Oxq3gS


17. If a cheetah spots his prey at a distance of

100m, what is the minimum time it will take to

get its prey if the average velocity attained by

it is 90 km/h?

Watch Video Solution

18. Interpret the distance-time graph.

Watch Video Solution

https://dl.doubtnut.com/l/_zav2Q5zwxRZN
https://dl.doubtnut.com/l/_UyFe9YdOlLE5


19. From the position-time graph given find

the average speed 

Watch Video Solution

https://dl.doubtnut.com/l/_MKtmgnuUC8wK


20. From the position-time graph given find

the distance travelled between 2 sec and 5 sec.

Watch Video Solution

https://dl.doubtnut.com/l/_GNjScW5AfgoP


21. A car travelling at a speed of 10m/s stops in

4s after the application of brakes. If we

assume the retardation to be constant. 

Draw a speed-time graph for the above

information.

Watch Video Solution

22. A car travelling at a speed of 10m/s stops

in 4s after the application of brakes. If we

https://dl.doubtnut.com/l/_Cm9YEBkBMDck
https://dl.doubtnut.com/l/_pzqsm93L4uuS


assume the retardation to be constant. 

Find the retardation.

Watch Video Solution

23. A car travelling at a speed of 10m/s stops

in 4s after the application of brakes. If we

assume the retardation to be constant. 

Find the distance travelled during this time.

Watch Video Solution

https://dl.doubtnut.com/l/_pzqsm93L4uuS
https://dl.doubtnut.com/l/_lAcEU229BkN3


24. Interpret the following graph and answer

the following: 

 


Find acceleration between A to B.

Watch Video Solution

https://dl.doubtnut.com/l/_KSdNdNDPqdtV


25. Interpret the following graph and answer

the following: 

 


Find acceleration between B to C.

Watch Video Solution

https://dl.doubtnut.com/l/_30Rsz4Q8Nddn


26. Interpret the following graph and answer

the following: 

 


Find acceleration between P to Q.

Watch Video Solution

https://dl.doubtnut.com/l/_nGzdoBBGo2Zh


27. Interpret the following graph and answer

the following: 

 


The average speed for the complete journey (

1to 7s)

Watch Video Solution

https://dl.doubtnut.com/l/_bm49Be5IESvk
https://dl.doubtnut.com/l/_dPV4h1rOGlbq


28. A bus accelerates uniformly from 18 km/h

to 36 km/h in 10s. Calculate the acceleration.

Watch Video Solution

29. A bus is moving with a speed of 18

kilometre per hour it comes to rest in 3

second on the application of brakes find the

retardation​, assuming it to be uniform.

Watch Video Solution

https://dl.doubtnut.com/l/_dPV4h1rOGlbq
https://dl.doubtnut.com/l/_mbuGHwF2fwHr


30. A car attains a velocity of  after

accelerating uniformly from rest in 5 seconds.

Find the distance travelled.

Watch Video Solution

36kmh− 1

31. A car accelerates uniformly at the rate of

 after starting from rest. Find the

distance travelled and velocity attained in 4

seconds.

Watch Video Solution

2ms− 2

https://dl.doubtnut.com/l/_wRAa4Z03UJLy
https://dl.doubtnut.com/l/_5luvrP5DQn3f


32. A car is moving at a speed of 18 km . It

starts retarding uniformly at 1m/s and cover

to rest. Find the distance travelled.

Watch Video Solution

33. A motorcycle starts from rest. The

uniformly accelerates at . Find the

distance travelled in the 3rd second.

Watch Video Solution

1m/s2

https://dl.doubtnut.com/l/_5luvrP5DQn3f
https://dl.doubtnut.com/l/_DZAdJFiV6Kpl
https://dl.doubtnut.com/l/_zN1j3WMMsdRm


34. A body moves on a circular path of radius 1

m. It completes one circle in 2 seconds. Find its

speed.

Watch Video Solution

35. An athlete complete one round of a

circular track of diameter 100 m in 15 s. What

will be the distance covered and the

displacement at the end of 3 minutes 30 s ?

Watch Video Solution

https://dl.doubtnut.com/l/_oc7zVzmVHDht
https://dl.doubtnut.com/l/_t00Gaordnjje


36. A car moves a circular path of radius 20 m

in 50 s with a uniform speed. Find the speed.

Watch Video Solution

37. If two objects move in a circular path of

radii in the ratio of 1:3 and take same time to

complete the circle, what is the ratio of their

speed?

Watch Video Solution

https://dl.doubtnut.com/l/_t00Gaordnjje
https://dl.doubtnut.com/l/_KxOlkrhbfQJs
https://dl.doubtnut.com/l/_wmAxFxHe2f5u


38. An object has moved through a distance.

Can it have zero displacement ? If yes, support

your answer with an example.

Watch Video Solution

39. A farmer moves along the boundary of a

square field of side 10m in 40 s. What will be

the magnitude of displacement of the farmer

at the end of 2 minutes 20 seconds?

Watch Video Solution

https://dl.doubtnut.com/l/_IfgpmoJnNqng
https://dl.doubtnut.com/l/_HIH73lPQXpkJ


40. Which of the followig is true of

displacement? It can be zero.

Watch Video Solution

41. Which of the followig is true of

displacement? Its magnitude is greater than

the distance travelled by the object.

Watch Video Solution

https://dl.doubtnut.com/l/_HIH73lPQXpkJ
https://dl.doubtnut.com/l/_15SqGxva099Z
https://dl.doubtnut.com/l/_O5uZblYRW0nn
https://dl.doubtnut.com/l/_iCuYvm92pxJR


42. Distinguish between speed and velocity.

Watch Video Solution

43. Under what condition(s) is the magnitude

of average velocity of an object is equal to its

average speed ?

Watch Video Solution

44. What does the odometer of an automobile

measure ?

https://dl.doubtnut.com/l/_iCuYvm92pxJR
https://dl.doubtnut.com/l/_LRyWLfKEnK4v
https://dl.doubtnut.com/l/_jdBTh8V5XKyd


Watch Video Solution

45. What does the path of an object look like

when it is in uniform motion ?

Watch Video Solution

46. During an experiment, a signal from a

spaceship reached the ground station in five

minutes. What was the distance of the

spaceship from the ground station ? The

https://dl.doubtnut.com/l/_jdBTh8V5XKyd
https://dl.doubtnut.com/l/_ATGBp0J8XEpG
https://dl.doubtnut.com/l/_RMJNZriEjeLl


signal travels at a speed of light that is

.

Watch Video Solution

3 × 108ms− 1

47. When will you say a body is in : uniform

acceleration ?

Watch Video Solution

48. When will you say a body is in : non-

uniform acceleration ?

https://dl.doubtnut.com/l/_RMJNZriEjeLl
https://dl.doubtnut.com/l/_9kcV8CVbx60L
https://dl.doubtnut.com/l/_6GCg1ie9fzBO


Watch Video Solution

49. A bus decrease its speed from 

to  in 5 sec. Find acceleration of the

bus.

Watch Video Solution

80kmh− 1

60kmh− 1

50. A train starting from a railway station and

moving with uniform acceleration attains a

https://dl.doubtnut.com/l/_6GCg1ie9fzBO
https://dl.doubtnut.com/l/_NiUTm6Ip1maZ
https://dl.doubtnut.com/l/_9itPobOXAEKl


speed of 40km/h in 10 minutes. Find its

acceleration.

Watch Video Solution

51. What is the nature of the distance-time

graphs (x - y) for uniform and non uniform

motion of an object ?

Watch Video Solution

https://dl.doubtnut.com/l/_9itPobOXAEKl
https://dl.doubtnut.com/l/_RRwWzKqSLuCh


52. What can you say about the motion of

object
 whose distance - time graph is a

straight line parallel to
time axis ?

Watch Video Solution

53. What can you say about the motion of an

object if its speed - time graph is a
 straight

line parallel to time axis ?

Watch Video Solution

https://dl.doubtnut.com/l/_5IEx00RgM6lC
https://dl.doubtnut.com/l/_Lwh2ex755B88
https://dl.doubtnut.com/l/_1Fmbe6OFqfAf


54. What is the quantity which is measured by

the area occupied below velocity -time graph ?

Watch Video Solution

55. A bus starting from rest moves with a

uniform acceleration of  for two

minutes. Find: the speed acquired.

Watch Video Solution

0.1ms− 2

https://dl.doubtnut.com/l/_1Fmbe6OFqfAf
https://dl.doubtnut.com/l/_IXOHHveV3hG1


56. A bus starting from rest moves with a

uniform acceleration of  for two

minutes. The distance travelled.

Watch Video Solution

0.1ms− 2

57. A train is travelling at a speed of .

Brakes are applied so as to produce a uniform

acceleration of . Find how far the

train will move before it is brought to rest?

Watch Video Solution

90kmh− 1

−0.5ms− 2

https://dl.doubtnut.com/l/_aehx1p2hLsDb
https://dl.doubtnut.com/l/_S8MNoangtgTR


58. A trolley, while going down an inclined

plane has an acceleration of  What will

be its velocity 3 s after the start?

Watch Video Solution

2cms− 2

59. A racing car has uniform acceleration of

. What distance will it cover in 10 s

after start?

Watch Video Solution

4ms− 2

https://dl.doubtnut.com/l/_S8MNoangtgTR
https://dl.doubtnut.com/l/_I1jX6PdE2ekK
https://dl.doubtnut.com/l/_jFLCLWtpP5lv


60. A stone is throw in a vertically upward

direction with a velocity of  if the stone

during its motion is  in the downward

direction . What will be the height attained by

the stone and how much time will it take to

reach there ?

Watch Video Solution

5ms− 1

10ms− 2

61. An athlete completes one round of a

circular track of diameter 200m in 40s. What

https://dl.doubtnut.com/l/_7dL674NAo0XN
https://dl.doubtnut.com/l/_yXSGO3Hb7GfH


will be the distance covered and the

displacement at the end of 2 min 20s?

Watch Video Solution

62. Joseph jogs from one end A to the other

end B of a straight 300 m road in 2 minuts 30

seconds and then turns around and jogs 100

m back to point C in another 1 minute. What

are Joseph's average speeds and velocities in

jogging (a) from A to B and (b) from a to C ?

Watch Video Solution

https://dl.doubtnut.com/l/_yXSGO3Hb7GfH
https://dl.doubtnut.com/l/_1nMfZECo3JUy


63. Joseph jogs from one end A to the other

end B of a straight 300 m road in 2 minuts 30

seconds and then turns around and jogs 100

m back to point C in another 1 minute. What

are Joseph's average speeds and velocities in

jogging (a) from A to B and (b) from a to C ?

Watch Video Solution

64. Abdul while driving to school, computes

the average speed for his trip to be 20 km h− 1

https://dl.doubtnut.com/l/_1nMfZECo3JUy
https://dl.doubtnut.com/l/_9wnR9MzzLPLP
https://dl.doubtnut.com/l/_Yp70eUNroGbI


. On this trip along the same route there os

less traffic and average speed is 40 km `h^-(-1) .

What is the average speed for Abdul's trip ?

Watch Video Solution

65. A motorboat starting from rest on a lake

accelerates in a straight line at a constant rate

of  for 8.0 s . How far does the boat

travel during this time?

Watch Video Solution

3.0ms− 2

https://dl.doubtnut.com/l/_Yp70eUNroGbI
https://dl.doubtnut.com/l/_Bdgll0gRAQMd
https://dl.doubtnut.com/l/_VSlineBe47NH


66. A driver of a car travelling at 

applies the brake and accelerates uniformly in

opposite direction. The car stop in 5 s. Another

driver going at 3 km  applied his brakes

slowly and stop in 10 s. On the same graph

paper plot the speed versus time graph for

the two cars. Which of the two cars travelled

farther after the
brakes were applied ?

Watch Video Solution

52kmh− 1

h− 1

https://dl.doubtnut.com/l/_VSlineBe47NH


67. A ball is gently dropped from a height of 20

m. If its velocity increases uniformly at the rate

of , with what velocity it will strike the

ground ? After What time will it strike the

ground ?

Watch Video Solution

10ms− 2

68. State which of the following situations are

possible and give an example for each of

https://dl.doubtnut.com/l/_ISxt6ixwqvs5
https://dl.doubtnut.com/l/_gbBDnmkmuEtr


these.an object with a constant acceleration

but with zero velocity.

Watch Video Solution

69. State which of the following situations are

possible and give an example for each of

these.an object moving in a certain direction

with an acceleration in the perpendicular

direction.

Watch Video Solution

https://dl.doubtnut.com/l/_gbBDnmkmuEtr
https://dl.doubtnut.com/l/_W4o18haLht5B
https://dl.doubtnut.com/l/_Pgh0sHQDrn4H


70. An artificial satellite is moving in a circular

path orbit of radius 42,250 km. Calculate its

speed if it takes 24 hours to revolve around

the earth.

Watch Video Solution

71. The displacement of a moving object in a

given interval of time is zero. Would the

distance travelled by the object also be zero?

Justify the answer.

Watch Video Solution

https://dl.doubtnut.com/l/_Pgh0sHQDrn4H
https://dl.doubtnut.com/l/_QXWB3aBrPvvX


72. How will the equations of motion for an

object moving with a uniform velocity change?

Watch Video Solution

73. A girl walks along a straight path to drop a

letter in the letterbox and comes back to her

initial position. Her displacement-time graph is

shown in Figure. Plot a velocity-time graph for

https://dl.doubtnut.com/l/_QXWB3aBrPvvX
https://dl.doubtnut.com/l/_NRN9sNOqxHKb
https://dl.doubtnut.com/l/_MqWHKwpwYBDC


the same. 

Watch Video Solution

74. A car starts from rest and moves along the

x-axis with constant acceleration for 8

seconds. If it then continues with constant

5ms− 2

https://dl.doubtnut.com/l/_MqWHKwpwYBDC
https://dl.doubtnut.com/l/_k5DR9VzlxcUp


velocity, what distance will the car cover in 12

seconds since it started from the rest ?

Watch Video Solution

75. A motorcylist drives from A to B with a unit

speed of  and returns back with a of 

 . Find its average speed.

Watch Video Solution

30kmh− 1

20kmh− 1

https://dl.doubtnut.com/l/_k5DR9VzlxcUp
https://dl.doubtnut.com/l/_6dbnVrTpdU4D


76. The velocity time graph shows the motion

of a cyclist Find 

 its

acceleration.

Watch Video Solution

https://dl.doubtnut.com/l/_bpWk2ywt2iux


77. The velocity time graph shows the motion

of a cyclist Find 

 its

velocity.

Watch Video Solution

https://dl.doubtnut.com/l/_cEwbdkRIzV9w


78. The velocity time graph shows the motion

of a cyclist Find 

 the

distance covered by the cyclist in 15 seconds.

Watch Video Solution

https://dl.doubtnut.com/l/_mHeZRiAt4cP3


79. Draw a velocity versus time graph of a

stone thrown vertically upwards and then

coming downwards after attaining the

maximum height.

Watch Video Solution

80. A body is dropped from rest at a height of

150 m and simultaneously another body is

dropped from rest from a point 100 m above

the ground. What is their difference in height

https://dl.doubtnut.com/l/_a16V5gkTbSsd
https://dl.doubtnut.com/l/_kfA4PhwKKYSv


after they have fallen 2s? How does the

differences in height vary with time.

Watch Video Solution

81. An object starting from rest travels 20 m in

first 2s and 160 m in next 4 s. What will be the

velocity after 7s from the start.

Watch Video Solution

https://dl.doubtnut.com/l/_kfA4PhwKKYSv
https://dl.doubtnut.com/l/_G1VbrQVQ26ZA


82. using the following data, draw time-

displacement graph for a moving object. 

 Use this

graph to find average velocity for first 4s, for

next 4s and for last 6s .

Watch Video Solution

83. An electron moving with a velocity of

 enters into a uniform electirc

field and acquires a uniform acceleration of

5 × 104ms− 1

https://dl.doubtnut.com/l/_ZwNf3CN8msfn
https://dl.doubtnut.com/l/_YHvdsvA62Pxo


 in the direction of its initial motion. 


Calculate the time in which the electron would

acquire a velocity double of its initial velocity.

Watch Video Solution

104ms− 2

84. An electron moving with a velocity of

 enters into a uniform electirc

field and acquires a uniform acceleration of

 in the direction of its initial motion. 


Calculate the time in which the electron would

acquire a velocity double of its initial velocity.

5 × 104ms− 1

104ms− 2

https://dl.doubtnut.com/l/_YHvdsvA62Pxo
https://dl.doubtnut.com/l/_tcPO3LB1anxL


Watch Video Solution

85. Obtain a relation for the distance travelled

by an object moving with a unifrom

acceleration in the interval between 4th and

5th seconds.

Watch Video Solution

86. Two stones are thrown vertically upwards

simultaneously with their initial velocities

respectively. Prove that the heightsu1 and u2

https://dl.doubtnut.com/l/_tcPO3LB1anxL
https://dl.doubtnut.com/l/_nmA7eB45IRip
https://dl.doubtnut.com/l/_owDIUtJVIhC9


reached by them would be in the ratio of

 (Assume upward acceleration is -g and

downward acceleration to be + g).

Watch Video Solution

u2
1 : u2

2

87. Distance is a scalar quantity. Give reason.

Watch Video Solution

88. Justify the statement that the

displacement does not depend on the path

https://dl.doubtnut.com/l/_owDIUtJVIhC9
https://dl.doubtnut.com/l/_w15V98mdKlG1
https://dl.doubtnut.com/l/_qJ26IHOjsw3t


travelled?

Watch Video Solution

89. What is the nature of speed-time graph for

uniform motion?

Watch Video Solution

90. What can you say about the motion of an

object whose velocity-time graph is a straight

line parallel to time axis?

https://dl.doubtnut.com/l/_qJ26IHOjsw3t
https://dl.doubtnut.com/l/_iUYW7xc8S9Vc
https://dl.doubtnut.com/l/_RIs2CSUqELX4


Watch Video Solution

91. Can a body have acceleration in one

direction and velocity in another direction?

Watch Video Solution

92. What is the acceleration of a particle

moving with a uniform velocity?

Watch Video Solution

https://dl.doubtnut.com/l/_RIs2CSUqELX4
https://dl.doubtnut.com/l/_h7JrRbDF0M2P
https://dl.doubtnut.com/l/_QsBgNQGAAaEN
https://dl.doubtnut.com/l/_suIWaQx2sBik


93. A particle is moving in a circle of diameter

5m. What is the displacement when it

completes  revolutions.

Watch Video Solution

1
1

2

94. A body is thrown in the vertically upwards

direction rises upt ot a height 'h' and comes

back to the positio of start. Calculate. The

total distance travelled by the body.

Watch Video Solution

https://dl.doubtnut.com/l/_suIWaQx2sBik
https://dl.doubtnut.com/l/_4oV9xemDenV1


95. A body is thrown in the vertically upwards

direction rises upt ot a height 'h' and comes

back to the positio of start. Calculate. The

displacement of the body.

Watch Video Solution

96. A body have zero average velocity but not

zero average speed. Justify.

Watch Video Solution

https://dl.doubtnut.com/l/_Ni06W4VECPcd
https://dl.doubtnut.com/l/_11pzm7tgr1NS
https://dl.doubtnut.com/l/_Lo6wdljis8ch


97. A person travelling in a bus noted the

tiings and the corresponding distances as

indicated on the km stones 

 Name

this type of table.

Watch Video Solution

https://dl.doubtnut.com/l/_Lo6wdljis8ch


98. A person travelling in a bus noted the

tiings and the corresponding distances as

indicated on the km stones 

 What

conclusion do you draw from this data?

Watch Video Solution

https://dl.doubtnut.com/l/_E5ssQVa1FUlL


99. A bus travels a distance of 120km with a

speed of 40km/h and returns with a speed of

30km/h .Calculate the average speed for the

entire journey.

Watch Video Solution

100. Abdul while driving to school, computes

the average speed for his trip to be 20 km 

. On this trip along the same route there os

h− 1

https://dl.doubtnut.com/l/_luOGYJREd0qg
https://dl.doubtnut.com/l/_FRWYkRytmLFU


less traffic and average speed is 40 km `h^-(-1) .

What is the average speed for Abdul's trip ?

Watch Video Solution

101. State the type of motion represented by

the given graph. 

https://dl.doubtnut.com/l/_FRWYkRytmLFU
https://dl.doubtnut.com/l/_W3gSJCK6YGf7


Watch Video Solution

102. What kind of motion of a body is

represented by the graphs shown. 

Watch Video Solution

https://dl.doubtnut.com/l/_W3gSJCK6YGf7
https://dl.doubtnut.com/l/_pEJamRQf1zn3


103. Velocity-time graph for a moving body is

shown in the diagram. What conclusion can be

drawn about the type of motion? 

Watch Video Solution

https://dl.doubtnut.com/l/_OK3DBaAdfkBq


104. Velocity of a particle moving along a

straight in a a certain tie interval is shown.

What is distance travelled during

acceleration? 

Watch Video Solution

https://dl.doubtnut.com/l/_DWZnzQNMuGQM


105. Explain the differences between the two

graph. 

Watch Video Solution

106. The graph given below is the distance-

time t of an object. 

https://dl.doubtnut.com/l/_1owGCKQLv8F2
https://dl.doubtnut.com/l/_u438ZC4bqYtx





Find the speed of the object during first four

seconds of its journey?

Watch Video Solution

https://dl.doubtnut.com/l/_u438ZC4bqYtx


107. The graph given below is the distance-

time t of an object.

 


How long was it stationary?

Watch Video Solution

https://dl.doubtnut.com/l/_tlnpMRLC5N45


108. The graph given below is the distance-

time t of an object. 

 Does it

represents a real situation? Justify answer.

Watch Video Solution

https://dl.doubtnut.com/l/_9vCg5mkE8yYI


109. What does the odometer of an

automobile measure ?

Watch Video Solution

110. Two graphs for motion of objects movinhg

along a straight line are shown. State how the

speed a changing with time in both the cases.

https://dl.doubtnut.com/l/_rqvEax1HHFJy
https://dl.doubtnut.com/l/_LBdV3gdDxjBI


Watch Video Solution

111. Four speed-time graph are shown below: 

Which

graph represents the following case:
(a) A ball

thrown vertically upwards and returning to

the hand of the thrower?
 (b) A body

decelerating to a constant speed and then

accelerating?

Watch Video Solution

https://dl.doubtnut.com/l/_LBdV3gdDxjBI
https://dl.doubtnut.com/l/_KGis8A8gJbRg


112. Which graph represents 

a ball thrown vertically upwards and returning

to the hand of thrower?

Watch Video Solution

113. If the acceleration of the particle is

constant in magnitude but ot in direction,

https://dl.doubtnut.com/l/_ERZ9RDylZwvH
https://dl.doubtnut.com/l/_8eYwfyC82v02


what type of path does the particle follow?

Watch Video Solution

114. The direction in which an obect moves is

given by the direction of velocity of the object

and ball by the direction of acceleration.

Explain this staement with suitable example

Watch Video Solution

https://dl.doubtnut.com/l/_8eYwfyC82v02
https://dl.doubtnut.com/l/_hGyBkURxWH06


115. A bus decreases its speed from 

to  in 5 sec. Find the acceleration of

the bus.

Watch Video Solution

80kmh− 1

50kmh− 1

116. Give one example each distinguishing

between uniform acceleration and non-

uniform acceleration.

Watch Video Solution

https://dl.doubtnut.com/l/_7UJI717bP6DY
https://dl.doubtnut.com/l/_Y9AftoJNId7d
https://dl.doubtnut.com/l/_WOfyZBmbXnyR


117. A train 100 m long is moving with a

velocity of  . Find the time it takes to

cross the bridge 1 km long.

Watch Video Solution

60kmh− 1

118. A body covers a semi circle of radius 7 cm

in 5 seconds. Find its velocity.

Watch Video Solution

https://dl.doubtnut.com/l/_WOfyZBmbXnyR
https://dl.doubtnut.com/l/_7OHaZFTXeFN2


119. Under what condition is the magnitude of

distance and displacement equal?

Watch Video Solution

120. Study the given graph and answer the

following questions: 

https://dl.doubtnut.com/l/_5tHCX0RaEvq5
https://dl.doubtnut.com/l/_eoSu3LtU69sY


 Which

part of the graph shows accelerated.

Watch Video Solution

121. Study the given graph and answer the

following questions: 

https://dl.doubtnut.com/l/_eoSu3LtU69sY
https://dl.doubtnut.com/l/_ZCG8hCnVaizW


 Which

part of the graph shows retarded motion?

Watch Video Solution

122. Study the given graph and answer the

following questions: 

https://dl.doubtnut.com/l/_ZCG8hCnVaizW
https://dl.doubtnut.com/l/_XWeVmmgrSlFI


Calculate the distance travelled by the body in

first 4 seconds of journey graphically.

Watch Video Solution

123. The graph below shows how the speed car

changes with time: 

https://dl.doubtnut.com/l/_XWeVmmgrSlFI
https://dl.doubtnut.com/l/_wMsSb2FID1Jn


 What is

the initial speed of car?

Watch Video Solution

124. The graph below shows how the speed car

changes with time: 

https://dl.doubtnut.com/l/_wMsSb2FID1Jn
https://dl.doubtnut.com/l/_anA1PFrdQsl4


What is

the maximum speed attained by the speed?

Watch Video Solution

125. The graph below shows how the speed car

changes with time: 

https://dl.doubtnut.com/l/_anA1PFrdQsl4
https://dl.doubtnut.com/l/_MZIdMO8LneWA


Which

part of the graph shows a acceleration?

Watch Video Solution

126. The graph below shows how the speed car

changes with time: 

https://dl.doubtnut.com/l/_MZIdMO8LneWA
https://dl.doubtnut.com/l/_zNbpx6sD4Ceq


 Which

part of the graph shows vary retardation?

Watch Video Solution

127. A farmer moves along the boundary of a

square field of side 10 m in 40 s. What will be

the magnitude of displacement of the farmer

at the end of 2 minutes 40 seconds ?

https://dl.doubtnut.com/l/_zNbpx6sD4Ceq
https://dl.doubtnut.com/l/_GGaTT8LyiDqP


Watch Video Solution

128. Rajeev went from Delhi to Chandigarh on

his motorbike. The odometer of that read

4200km at the start of the trip and 4460km at

the end of his trip. If Rajeev took 4h 20min to

complete his trip, then find the average speed

and average velocity in km/h as well as in m/s.

Watch Video Solution

https://dl.doubtnut.com/l/_GGaTT8LyiDqP
https://dl.doubtnut.com/l/_rQ7voubaO2Zq


129. A cyclist goes around a circular track of

diameter 105 m in 5 min. Calculate his speed

and velocity at the end of 7 minutes 30

seconds.

Watch Video Solution

130. Why is it advised to tie any luggage kept

on the roof of a bus with rope ?

Watch Video Solution

https://dl.doubtnut.com/l/_6H9BZmV2fBt9
https://dl.doubtnut.com/l/_pecmUbg0MCbC
https://dl.doubtnut.com/l/_h1LSAl50tO5V


131. A car is moving with a velocity of 72km/h.

By applying brakes a negative acceleration of

0.4m/s2 is produced. the distance covered by

the car before it stops?

Watch Video Solution

132. A girl drove to a hospital from her home

and noted the odometer reading of her car

increased by 12 km. The trip took 18 min. What

was her average speed?

Watch Video Solution

https://dl.doubtnut.com/l/_h1LSAl50tO5V
https://dl.doubtnut.com/l/_ybqIp9I6qVpH


133. A girl drove to a hospital from her home

and noted the odometer reading of her car

increased by 12 km. The trip took 18 min. If she

returned home by the same path 7h 30 min

after she left, what was her average speed and

velocity for the entire tip?

Watch Video Solution

https://dl.doubtnut.com/l/_ybqIp9I6qVpH
https://dl.doubtnut.com/l/_KjnEbRLn21xQ


134. Give one example of motion where an

object does not change its speed but its

direction of motion changes continuously.

Calculate the speed of tip of second hand of

watch of length 1.5 cm.

Watch Video Solution

135. In a along distance race, the athletes were

expected to take four rounds of the track such

that the line of finish was same as the line of

https://dl.doubtnut.com/l/_D4DIqlE9i2L3
https://dl.doubtnut.com/l/_fXxcvkCuHsX6


start . Suppose the length of the track was 200

m. 

What is the displacement of the athletes when

they touch the finish line?

Watch Video Solution

136. In a along distance race, the athletes were

expected to take four rounds of the track such

that the line of finish was same as the line of

start . Suppose the length of the track was 200

m. 

https://dl.doubtnut.com/l/_fXxcvkCuHsX6
https://dl.doubtnut.com/l/_N4vqXUJ6IW1F


Is the displacement of an athlete and the

distance moved by him at the end of the race

equal?

Watch Video Solution

137. In a along distance race, the athletes were

expected to take four rounds of the track such

that the line of finish was same as the line of

start . Suppose the length of the track was 200

m. 

Is the displacement of an athlete and the

https://dl.doubtnut.com/l/_N4vqXUJ6IW1F
https://dl.doubtnut.com/l/_Ni034EbqGC0V


distance moved by him at the end of the race

equal?

Watch Video Solution

138. In a along distance race, the athletes were

expected to take four rounds of the track such

that the line of finish was same as the line of

start . Suppose the length of the track was 200

m. 

Is the displacement of an athlete and the

https://dl.doubtnut.com/l/_Ni034EbqGC0V
https://dl.doubtnut.com/l/_YZPBJsgHNwaZ


distance moved by him at the end of the race

equal?

Watch Video Solution

139. Is instantaneous speed and average speed

same physical quantities?

Watch Video Solution

140. Can distance-time graph of this nature of

this anture be possesed 

https://dl.doubtnut.com/l/_YZPBJsgHNwaZ
https://dl.doubtnut.com/l/_Y24XRkyRO4xa
https://dl.doubtnut.com/l/_80WeW1DaP2uE


Watch Video Solution

141. Do the following graphs represent the

same type of motion? 

https://dl.doubtnut.com/l/_80WeW1DaP2uE
https://dl.doubtnut.com/l/_ugqzQngvbse6


Watch Video Solution

142. Do the following graphs represent the

same type of motion? 

Watch Video Solution

https://dl.doubtnut.com/l/_ugqzQngvbse6
https://dl.doubtnut.com/l/_FCDjScy4zPf9


143. Are the following graphs possible 

Watch Video Solution

https://dl.doubtnut.com/l/_FCDjScy4zPf9
https://dl.doubtnut.com/l/_b1nQbNTDtF3L


144. Interpret the graphs A and B 

Watch Video Solution

145. A car moving with a velocity of 20 ms^(-1)

is stopped in a distance of 40 m. If the same

car is travelling at double the velocity, the

https://dl.doubtnut.com/l/_qsPTkkWA4IEF
https://dl.doubtnut.com/l/_5d8AUhxxc9Rk


distance travelled by it for same retardation

is?

Watch Video Solution

146. "v=u+at is used in case of variable

acceleration".comment

Watch Video Solution

147. Equations of motions can be used if

acceleration depends on time Comment.

https://dl.doubtnut.com/l/_5d8AUhxxc9Rk
https://dl.doubtnut.com/l/_rgGXSQBg3wXc
https://dl.doubtnut.com/l/_noIHuA2lZ1aI


Watch Video Solution

148. State which of the following situations are

possible and give an example for each of

these.an object with a constant acceleration

but with zero velocity.

Watch Video Solution

149. State which of the following situations are

possible and give an example of each of these?

https://dl.doubtnut.com/l/_noIHuA2lZ1aI
https://dl.doubtnut.com/l/_R3iUwx1Ynius
https://dl.doubtnut.com/l/_dfxQwGX5fpx2


A body moving with a constant velocity in an

accelerated motion.

Watch Video Solution

150. State which of the following situations are

possible and give an example for each of

these.an object with a constant acceleration

but with zero velocity.

Watch Video Solution

https://dl.doubtnut.com/l/_dfxQwGX5fpx2
https://dl.doubtnut.com/l/_ghPFmDkXEMPf


151. A body moves with a velocity of 2m/s for

5s , then its velocity uniformly increases to

10m/s 5s . Thereafter its velocity begins to

decrease at a uniform rate until it comes to

rest after 10s . Plot a v-t graph and d-t graph

for the motion of the body. Mark the portions

of the graph when the motion is uniform and

when the motion is non uniform. From the

graph find the total distance moved by the

body after 2s and 12s and in the last 10s.

Watch Video Solution

https://dl.doubtnut.com/l/_00yd1aBq6G3v


152. Discuss the graph A,B and C shown in the

figure Compare the total distance travelled

and the displacements. Which portion of

graph represents a motion in which

displacement is zero? 

Watch Video Solution

https://dl.doubtnut.com/l/_XxkY0MiMNi4x
https://dl.doubtnut.com/l/_VPJwzkMd0bwl


153. A sprinter in a 100m race covers 4m in first

second, 30 m in next 4 seconds, 3 m in next 4

seconds and 52 m in another 4 seconds and

finishes the race in 10 seconds calculate the

average velocity is uniform.

Watch Video Solution

154. A sprinter in a 100m race covers 4m in

first second, 30 m in next 4 seconds, and 52 m

in another 4 seconds and finishes the race in

10 seconds In which time interval, is the

https://dl.doubtnut.com/l/_VPJwzkMd0bwl
https://dl.doubtnut.com/l/_62TPsT0nF1oK


average veloicty attained by the sprinter

maximum? State this velocity in appropriate

units.

Watch Video Solution

155. A sprinter in a 100m race covers 4m in first

second, 30 m in next 4 seconds, and 52 m in

another 4 seconds and finishes the race in 10

seconds Plot the distance-time graph for the

motion of the sprinter. You may assume that

https://dl.doubtnut.com/l/_62TPsT0nF1oK
https://dl.doubtnut.com/l/_JMgEu8sOOhVr


during any given time inerval the velocity is

uniform.

Watch Video Solution

156. A sprinter in a 100m race covers 4m in first

second, 30 m in next 4 seconds, 3 m in next 4

seconds and 52 m in another 4 seconds and

finishes the race in 10 seconds calculate the

average velocity is uniform.

Watch Video Solution

https://dl.doubtnut.com/l/_JMgEu8sOOhVr
https://dl.doubtnut.com/l/_fBfTrvNR6Go0
https://dl.doubtnut.com/l/_0BJtjq7wB5Dr


157. A body moves with a velocity of 2m/s for

5s , then its velocity uniformly increases to

10m/s 5s . Thereafter its velocity begins to

decrease at a uniform rate until it comes to

rest after 10s . Plot a v-t graph and d-t graph

for the motion of the body. Mark the portions

of the graph when the motion is uniform and

when the motion is non uniform. From the

graph find the total distance moved by the

body after 2s and 12s and in the last 10s.

Watch Video Solution

https://dl.doubtnut.com/l/_0BJtjq7wB5Dr
https://dl.doubtnut.com/l/_jMoMzVekEroJ


158. A body moves with a velocity of 2m/s for

5s , then its velocity uniformly increases to

10m/s 5s . Thereafter its velocity begins to

decrease at a uniform rate until it comes to

rest after 10s . Plot a v-t graph and d-t graph

for the motion of the body. Mark the portions

of the graph when the motion is uniform and

when the motion is non uniform. From the

graph find the total distance moved by the

body after 2s and 12s and in the last 10s.

Watch Video Solution

https://dl.doubtnut.com/l/_jMoMzVekEroJ


159. Interpret the following figure which shows

position of bodies A and B at different

isntants of time. Graph of position versus time

and give answers of the following questions: 

 What

were the positions of A and B at t = 0?

Watch Video Solution

https://dl.doubtnut.com/l/_2ixllwFLqNEY


160. Interpret the following figure which shows

position of bodies A and B at different

isntants of time. Graph of position versus time

and give answers of the following questions: 

The

speed of A= __________

Watch Video Solution

https://dl.doubtnut.com/l/_oX6B2AGbhaWG


161. Interpret the following figure which shows

position of bodies A and B at different

isntants of time. Graph of position versus time

and give answers of the following questions: 

 Draw a

velocity-time graph for A and B.

Watch Video Solution

https://dl.doubtnut.com/l/_LUj2LZIsm9Yn


162. Interpret the following figure which shows

position of bodies A and B at different

isntants of time. Graph of position versus time

and give answers of the following questions: 

 Who will

cover a distance of 180 m first?

Watch Video Solution

https://dl.doubtnut.com/l/_x6NIzIxlzcl5


163. Interpret the following figure which shows

position of bodies A and B at different

isntants of time. Graph of position versus time

and give answers of the following questions: 

 What

were the positions of A and B at t = 0?

Watch Video Solution

https://dl.doubtnut.com/l/_QhjgP0GZ8h8x


164. Interpret the following figure which shows

position of bodies A and B at different

isntants of time. Graph of position versus time

and give answers of the following questions: 

 Draw a

velocity-time graph for A and B.

Watch Video Solution

https://dl.doubtnut.com/l/_G0PgLLigUb1R

